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MATHCMATICS

By Pradeep Sir

Q1. The present age of A's father is equal to
six times of A's age two years hence. If A's
mother is eight years younger that A's father
and the respective ratio between A's mother
and fathe\risj_ : 9, what is A’'s present age? (in

year
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Hery + CL’?‘*’ahW* ~~:9Q3. There were 30 students in a hostel. If the

number of students in- creases by 10, the
expenses of the mess increase by Rs. 100 per
day while the average expenditure per head
decreases by Rs. 1. Find the original
expenditure of the mess.
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Q4. In what ratio does the point (-4, 6) divide
the line segment joining theﬁpoints A (-6, 10),
B(3,-8. )
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Q5. Earth takes 24 hours to rotate on its axis.

Find out the angle at which it rotates after 4

hours and 13__:_7_1_in]ﬁes.
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= Wepral W femntor ﬂmm il Q6. What is the average number of boys in CS,
v
ECE and EEE fields ? T
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Q7. The ratio of the number of boys in

Economics to the number of students in

Economics is:
PG H ASHI DI & P, TP H
Waﬁﬁwa@m%?
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Q8. What is the difference between the

number of girls in IT and number of girls in

i ECE?
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S’ > T Q9. A gun is fired from behind a train. The
< driver of train heard the sound /! min later
hen /& i > MeAfSac than guard. Find the length of train if the
'8 speeds of train && sound are 60 km/hr and
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(o 2 fuﬁ' :
x o & (~M1o. The angle of elevation of the top of a

30 m BT éstower 2513 m high from two points on the
* level ground on its opposite sides are 45° and
60°. What is the distance (in mm) between the
.. two points (correct to one decimal place)?
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Q11. Find out the smallest number of five
digits which is completely divisible by 12, 15

and 18 respectively.

U 3@ B a8 Bl | DIt F&AT &t 12, 15,
a4T 18 ¥ ¥ ude 9§ Yuiaar favsa g &,
cacni b T
(A) 10010)x
(C) 10020 )x
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Q12. The angles of a triangle are in the ratio
1:1:4. If the perimeter of the triangle is k times
its largest side, then what is the value of k?

S Brys & Sior 14 srgurd 7 81 afe Brys
) IRETT IS TER T YT B k AT E, A k

&1 919 T &2
(A) 1+~ (8) 1-2
(C)2+% (D) 2
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Q14. A, B and C are partners A receives 2/7 of

A e c the profit and B and C share the remaining

profit equally. A's income is increases by 240

e G X when the profit rises from 10% to 15% find
Ux @ 5« the capitals invested by B and C each.

L@ k@ Q'asamwﬁA cheﬂqmﬁlgmu
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G (A) 4800 — (8) 6000

(C) 5400 (D) 6400
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Q15. There are 30% educated people in a
village. If total population of the village is
6600, then what is the no. of uneducated

people?

US Tia ¥ 30% @ Rféa g1 afg e #t g
m eeoos’r af Iud sifXféa & &t

A) - (B) 4420
(C) 4500 (D) 4370
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Q17. A man purchases some no. of oranges @
25 oranges for 1. How many for a did he sell
to gain 25%.

TP ATGHl 3 PO Hax 25 Ha¥ 1 B & &
w1t ¥ & frat ¥R A9 oY @ify 9@

25% BT ATH Bl ?
(A) 20 (B) 25
(C) 18 (D) 22
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Q18. In a school, the number of boys and girls
are in Ratio 5: 3. Some new boys and girls took
admission in the school in the ratio 5: 7. Now,
the total number of students in the school are
1200 and the ratio of total number of boys
and girls become 7: 5. Find the number of
students mntnally
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ST~ PXRAXT

: 22 Q19. Ratio of principal and amount at certain
- 0oxs|
( R = PKT) = [20x52 g rate for certain time is 4 : 5. After 3 years,

FAR

ratio becomes 5:7 at same interest rate. What
is rate of interest?
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The value of

(A) 3

2

3
(C) 18§
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Q21. Find the range coefficient for the

following observation.
TR W&ot BT URTH VIS J1d HHfeig |
— @ 4 |5(6([7]8]09 @
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" o+




MATHEMATICS By Pradeep Sir
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Q23. A, B and C can complete a work in 8, 16
and 24 days respectively. They start the work
together and A works till last moment. If C
leaves the work 2 days before and B leaves
one _c_iﬂ before tm of the work, in
how many days the work will be finished?

A, B TYT C fa¥it ST 3 B 8, 16 auT 24 3
d U R ADd gl a9y ey s
IR FIA § d4T A 3~ aF BT Pl gl C
mmaﬁﬁzﬁqga B &TH WH g1 A
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fadgaagen-

(A) 8 days/ f&=1
(C) 6 days/ f&=




